AP Statistics - Binomial Models Practice Name: Per:

1.  Adieis weighted so that the probability of rolling a “6" is 0.48. The die is rolled 18 times.
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b) Find the probability that the die lands on a “6” either —7—013 times.
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c¢) Find the probability that the die lands on a “6” no more than 5 times (this means 5 times or fewer).
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d) Find the probability that the die lands on a “6” at least 4 times.
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e) In statistics, an event is considered “UNL!KEW" if the probability of it occurring is less than five percent.
Based on your answer to part (C), is landing a “6” on this die for no more than 5 tosses considered an
UNLIKELY event? Explain.

/\'hepralmbi\;'fﬁ i G or fewes Sixes (s 0.06776,

This s yaad'of tan 5% 4o this s }_\_)ﬂ“ Co3 dered %mes'l‘fca(l; \Mlilr—d;.
(bﬂ!ﬂl\})

]

\]

))

)



2. Adieis weighted so that the probability of rolling a “6” is 0.42. The die is rolled 18 times.

a) Find the probability that the die lands on a “6” exactly 11 times.

b) Find the probability that the die lands on a “6” either 7 or 8 times.

c¢) Find the probability that the die lands on a “6” no more than 5 times (this means 5 times or fewer).

d) Find the probability that the die lands on a “6” at least 4 times.

e) Instatistics, an event is considered “UNLIKELY” if the probability of it occurring is less than five percent.
Based on your answer to part (C), is landing a “6” on this die for no more than 5 tosses considered an
UNLIKELY event? Explain.



